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 RATTIO AND PROPORTION
(37U T FHIIE)

(6

Four numbers areintheration 1: 2 : 3 : 4. Their
sum s 16. The sum of the first and fourth num-
ber is equal to :
1:2:3:4% 3qud ¥ 9R §ea €| wemsi
1 AN 16 31 TR 9 =l W i A SN B
(1 5 (2) 8
3) 10 (4) 80

(SSC CGL Prelim Exam. 04.07.1999 (Second Sitting)

The ratio of two numbers is 3 : 8 and their dif-
ferenceis 115. The smaller of the two numbers is:

T wEe 3 8 1 UM B SR IR IR
115 21 79 34 wemst ¥ ¥ s g 2-
(1) 184 (2) 194
(3) 69 4) 59

(SSC CGL Prelim Exam. 04.07.1999 (Second Sitting)
The ratio 2'° - 2% is the same as :
215 905 o1 T T H W feheeh asR, 22
(1) 2:1 2) 3:1
(3) 6:1 (4) 3.2

(SSC CGL Prelif Exam. 27.02.2000 (Second Sitting)
Ifm:n=3:2, then (4m + 5n) : (4m — 5n) is
equal to :
IfE m:n=3"2, 1l (4m+ 5n); (4m — 5n) ForEeh
TR BM?

(1) 4:9 2) 9:4
3) 11:1 4 971
(SSC CGL Prelim Exam. 27.02.2000%(Second Sitting)
If b—g lb C—Ei dd: li
A MR A Ve 105
thena:b:c:dis
2 1 2 5
b ==:=,bic==:— :
afe a: b 53 2 A d e

losé?ﬁabcdaﬂ@r{%

(1) 4:6:7:9 (2) 16:24:30:35
(3) 8:12:15:7
(4) 30:35:24:16

(SSC CGL Prelim Exam. 11.05.2003 (First Sitting)

6.

What number should be added to each of 6, 14,
18 and 38 so that the resulting numbers make a
proportion ?
6, 14, 18N 38 H ¥ s § wH ® wem
SreA W AOTH HEAT U I ST
(1 1 (2 2
G) 3 4) 4

(SSC CGL DEO & LDC Exam. 27.11.2010)
Ifx : y =3 : 2, then the ratio
2X° +3y” :3x”> —2y’isequal to :
I x1y 02 g, ST{uTd

2x% +3y2:3x3E 2y ? SIS BI-
(2 - 5 2).46
3) 30°19 (@) 513

(SSC CGL Prelim Exam. 13.11.2005 (First Sitting)
Ifa:b:c, then 3% - p*iSequal to
I a b =b:cB, @M 4* p* T BN

(1)Cac: b2
(2) a%:¢?
(3) c?:/a?
(4) b%:ac
(SSC CGL Prelim Exam. 13.11.2005 (Second Sitting)
1 3 15
IfA:B=—:—,B:C=-:—
28 3 gand
53
C:D= o ZthentheratloA B:C:Dis
1 3 15
B==—-,B:C=—:—
e AB= 1o 3 9a:ﬁ1
53
C:D=—:2 2, U A:B:C:Damm-
(1) 6:4:8:10
(2) 6:8:9:10
(3) 8:6:10:9
4) 4:6:8:10

(SSC CGL Prelim Exam. 13.11.2005 (Second Sitting)
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ABC 15. IfAand B areinratio 3 : 4 ratio 3 : 4 and B and
10. IfA:B: C=2:3:4, then ratio EZE:XiS Cintheratio 12 : 13, then A and C will be in the
ratio
gl 4% o o
afs A:B:C=2:3 4%, @ A aﬁ;AamB&A T BHWCIZ‘
13 % U | 8, @ Aden C fRy e H
A B C .
EZE:XW - 7i?
(1) 8:9:16 (2) 8:9:12 (;) §6 .1?3 (j) ?3 .13
(3) 8:9:24 (4) 4:9:16 3) ' ()_ ' N
(SSC CGL Prelim Exam. 13.11.2005 (Second Sitting) (88 CGL Pr_ehm Exam. 27.07.2008 (Second Sitting)
11. Ifa:b=c:d =e: f=1:2, then(3a+5c+7e): 16. If a and b are rational numbers and a + b
(3b +5d+7f)isequal to 5= 1 ‘
I a:b=c:d=e:f=1:2%,a Ga+5c+ —m,thena:blsequalto
7e): (3b +5d +7) S B s g qu1 b wET WA § 941 a + b
(1) 8:7 @) 2:1 1
(3) 1:4 “4) 1:2 xf:T,?ﬁa:bW%ﬁTn—
(SSC CGL Prelim Exam. 13.11.2005 (Second Sitting) 2-43
12. Ifa:b:c=2:3:4and 2a—3b+4c=33, then (1) -2:1 2) 2.1
the value of c is
(B) V3:1 (4)=43.:1
affa:b:c=2:3:47 qd 2a—3b+4c=33 V3 3
(SSC (South Zone) Investigator Exam. 12.09.2010)
<hl HH - . .
@l ¢ Rl 17:. Iftwo-third ofAis four-fifth of B, thenA: B =7
(1) o 2) 9 5 y
66 AR =~ 9B ® — 9 & SR B, @ A
3) 12 @ — I 3 5
_ Wi . B ghm 2
(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)
(1) 536 2) 6:5
ma +nc
13. Ifa:b=c:d, then 5 disnotequalto (3). 10:9 (4) 9:10
mb " Q FCI Assistnat Grade-II Exam. 05.02.2012 (Paper-I)
g a:b=c:d7, @ 12 TS frefafegd.a (Bast Zone (ind Sitting)
- o B 2 mb +nd 18, The ratio 435 - 25is the same as
) AU 435 .95 Sal & € Toer-
a C
(D) ™ ) 1 (1) 4:1 2) 2:1
G) 1:2 4) 1:4
3 atc 4 c-a ($SC CHSL DEO & LDC Exam. 28.11.2010 (Ist Sitting)
3 14 @ v
+ 19. Three persons walk from place A to place B.
($SC CGL Prelim Exam. 04.02.2007 (Second Sitting) Their speeds are in the ratio 4 : 3 : 5. The ratio
14. Ifa:b:c=7:3:5,then(a+b+c):(2a+b-

¢) equal to
Iffa:b:c=7:3:5@(a+b+c): (2a+b—
¢) R BIT-
1) 1:2
G) 34

2) 2:3
@) 5:4

(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting)

of the time taken by them to reach B will be :
i oafed ©IF A9 ©F B# fou ieet e
&1 TR WA 423 5% I | 71 S g
B wE=H H fefu <™ arelt wmal @1 STurd &R
(1) 10:15:13 (2) 2:3:4

() 15:20:12 (4) 16:18: 15

(SSC CHSL DEO & LDC Exam. 28.11.2010 (Ist Sitting)
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20. IfA:B=1:2B:C=3:4,C:D=6:9andD (1) 8:6:9 (2) 9:8:6
E=12:16thenA:B:C:D:Eisequalto (3) 6:8:9 4) 3:32:9
A A:B=1:2,B:C=3:4,C:D=6:97 ($SC CPO S.I. Exam. 12.12.2010 (Paper-)
D:E=12:16%, @ A:B:C:D:E®® 25 Tpe ratio of speed of two carsis 5 : 4 What is the
B~ ratio of their time taken to cover the same dis-
(1) 1:3:6:12:16 tance
(2) 2:4:6:9:16 2RI 1 T T SUE 5 ;421 TRIER GH A
(3) 3:4:8:12:16 T Tk IH H @ oIl 37 9T R ST
(4) 3:6:8:12:16 fopa T g2
(S$SC CHSLDEO & LDC Exam. 28.11.2010 (1Ind Sitting) (1) 5:4 (2) 6:4
21. Marks of two candidates P and Q are in the ratio (3) 6:5 4) 4:5
of 2 : 5. If the marks of P is 120, marks of Q will (SSC CISF Constable (GD) Exam. 05.06.2011)
zﬁeaWﬁP\%ﬁ'{Qﬁa‘?lS@Wﬁ%I 26. ‘Ifa:b=2:3andb:c:=4:5then a? b2:bc
P & 1208, @ QN S B- /
ZT;{IZO (2?240(2 ¢ I a:b=2:33Mb:c:=4:52, a0 42 p2:
(3) 300 4) 360 be I <RI
(SSC CISF Constable (GD) Exam. Exam. 05.06.2011) (1) 4:9:45 (2) 16736:45
22. To get ratio p : q (forp#q),one has to add a 20 QIR0
number to each term of all ration x : y,the num- (SSCCGL Prelim Exam. 24.02.2002 (First Sitting)
ber is 27...0.6 of a number is equal to 0.08 of other num-
ber. What is the ratio of both numbers
Wp'q(ﬁ”piq*@ W‘W$m fordll G 0.6, T H&A & 0.08 SR
X |y $IUNM & Y% U5 H Ry AT Sl s 3 Wi
a2 BLAR demei T e @
1) 3:4 Q) 4:3
) pX+qy ) 94X = Py G) 2:15 4) 2:9
P—q P4 (SSC CGL Prelim Exam. 04.07.1999 (Second Sitting)
pX —qy py — X 28.. The sum of two numbers is 40 and their differ-
3) p—q ) p—q ence is 4. The ratio of the numbers is:
(SSC CHSL DEP & 1.DC Exdm"04.12.2011 T Wemetl ® AN 40 € SN S S 4 2
(Iind Siffifig (North Zone) GEE 1 S M 7?
23. If))(iy=3:4,thenthevalueof(4x—y):(2x+ (1) 21:19 (2) 22:9
3y)1s : .
AE x:y=3:4,7, A (@dx—y): (2X+3y) A @) 11:9 (4) s »
(SSC CGL Prelim Exam. 27.02.2000 (Second Sitting)
W e 20 IfA:B=1:2,B:C=3:4andC :D=5:6

24.

(1) 4:9
(3) 4:3

() 8:9

4) 8:3

(SSC CHSL DEO & LDC Exam.11.12.2011
(Ist Sitting (East Zone)

IfA:B=3:4andB:C=8:9,thenA:B:C

1S

IE A:B=3:47aM B:C=8:97%, T U

A :B: C =R gh-

thenD:C:B:Ais

aff A:B=1:2,B:C=3:43RC:D=5:6
2 @ D:C:B:AFME HIFIT?

(1) 6:5:4:2 (2) 6:3:2:1

(3) 6:4:2:1 (4) 48:40:30:15

(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
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2a-5b 4 ‘ 35. Thg proc‘iuct‘ oftwo positive integgrs is 1575 and
30. If 32 +6b = 7then a:bis their ration is 9 : 7. The samaller integer is
e sy 4 < ¥R UITh! T TOMHS 1575 7 T SR
a— .
aﬁ3+6b=7%ﬁ,ﬁa:bwnﬁw%— UG 9 : 771 T B i B-
e . (1) 25 2) 35
(1) 21:36  (2) 2:59 G) 45 @ 70
(3) 59:2 4) 36:21
4SC CGL Prolim E 24.02.2002 (Middle Zone) (SSC CGL Prelim Exam. 24.02.2002 (Middle Zone)
( T 36. Inbagsx xy, the ratio of number of bulletsis 2 :
31 2= b_c then atb+c i 3 If 5 bullet from y are put in bag x then number
3 4 7 of bullets in each bay will be same. Now, how
a b ¢ atbdtc many bullets are in bag.
afg 5—227@?ﬁ RN EERER x, y gl & Mol w1 ge w1 a2 3 )
3 y & ¥ 5 el fea x 9 °§ s &
(1) 0 @ 1 79 Z O | Mierl Y W SeR 7 T o
3) 2 @) 3 & Yo il w1 wen 82
(SSC CGL Prelim Exam. 24.02.2002 (Middle Zone) (l) 45 (2) 20
. 2 b 4 3) 30 ) 25
32 If B = 3 and ; = 50 then(a+b):(b+c)=? (SSC Gradiate Bevel Tier-I Exam. 19.05.2013)
a 2 b 4 37. Theratio of 2527 5%1s same as
ﬂﬁ(ngH?ﬂ Ezg,?ﬁ(a‘f‘b)I(b‘f‘C):? 252.5:53$[3:|§rqaﬁ1:[ﬁm$w%?
(1) 3:4 (2) 4:5 (1) 5:3 (2)5:6
(3) 5:9 4) 20:27 | (3) 1725 4) 25:1
(SSC IR (No™Eehnisal) (8SC Graduate Level Tier-I Exam. 19.05.2013)
StaffExam. 27.02301D) - 38 The ratio of cost of school bag & shoes are 7: 5.

33.

34.

The price of a refrigérator and a television set
are in the ratio 54 3, If the refrigerator costs ¥
5500 more than the television set, then the price
of the refrigerator si :

T RS T Th fafas & god 5.3
o H ¥ TEIEN, I8 FRee HHIHEG,
efifasH | T 5500 Aferer 71, i WRSReX. 1

e foraan grm?
(1) T27500 (2) T 8250
(3) TI13750  (4) T 16500

(SSC CHSL DEO & LDC Exam. 21.10.2012 (IInd Sitting)
The number to be added to each of the numbers
7,16, 43, 79 to make the numbers in proportion
is
98§ SiA-d €, TN Atk 7, 16, 43, 79 H
e WY, A 4 e GHEE g W?
(1 2 2) 3
3) 5 4 1

(SSS GL Tier-I Exam. 11.11.2012. Ist Sitting)

39.

40.

The cost of school bag is 200 more than cost of
shoes. What is the cost of shoes

e & O SR S & IE 75 A &
ha & Ot w1 g ¥ T 200 sAfye 21 S
T T B
(1) T200
(3) T 500

(2) T 700

4 T 1,200
(SSC Graduate Level Tier-Exam. 19.05.2013)
IfA:B=3:4andB:C=6:5,thenC: Ais
I A:B=3:47MB:C=6:5%, @ C:A
fopa T g2
(1) 10:9 (2) 9:10
(3) 8:9 4) 9:8

(SSC CHSL DEO & LDC Exam. 10.11.2013. Ist Sitting)

The ratio of boys and girls ina college is 5 : 3, If
50 boys leave the collage and 50 girls join the

collage, the ratio becomes 9 : 7. The number of
boys in the collage is
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T HeTfaered o TS| all TSRl ol eqaa 44 Of'three positive numbers. the ratio of 1 st and

5321 36 ¥ 3ft 50 s WRIfaae B ¢
3R 50 wefwdl werfa@e™ | o SY, @ SHen
I 9 ;721 WK 2| TAER, SH Heraaed |
oTgeh! 1 WA Tehal €2

2nd is 8 : 9, that of 2nd and 3rd is 3 : 4. The
product of 1 st and 3rd is 2400. The sum of the
three numbers is

9 v "emnstl |, wgell qel gE o
IO 8 : 9T, TN LA A drEd #1347

(1) 300 (2) 400 S8 TEelt den dred i TUMEE 2400 1 REEN,
(3) 500 (4) 600 S wEE w1 AN R 22
(SSC CHSL DEO & LDC Exam. 10.11.2013. Ist Sitting) (1) 145 (2) 185
. . 1.2.3 (3) 295 (4) 155
41. Three numbers are in the ratio 734 The (SSC Multi-Tasking Staff Exam. 10.03.2013

42.

43.

difference between the greatest and the smallest
number is 36. The numbers are

Lkl E@T@%%:%@ U | 2 o el
3R T B Hemsl @ 3621 3 w6
(1) 72,84, 108
(2) 60,72, 96
(3) 72,84, 96
(4) 72,96, 108

(SSC CGL Prelim Exam. 13.11.2005 (First Sitting)
The sum of three numbers is 68 4f the ratio of
the first to the second be 2 : 3 and that ©of the

second to the third be 5 : 3, thenthe second num-
ber is

1 Heet 1 A 681 A Teel g wLaEd
Y ST 2 ¢ 3 A TEI Bl GiEd § I S 3
31, @ Hen gefl-
(1) 30
(3) 20

@) 58

(4) 48
(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting)
From each of the two given unequal number; half
the smaller number is subtracted. The, of the
resulting number, the larger one 1s five times than
the samaller one. Then the ratio of'the larger to
smaller one is
R o wemsh ¥ ¥y ¥ B
A 1 T FE T 7| R aRomd wenet
o o) ol B At 9 9 n ®1 A SEl
T 1 B WEA ¥ S B-

45.

46.

47.

(Ist Sitting : patna)
The ratio of number & denominator of a frac-
tionis.2 : 3. If 6 is subtract from numerator than

result 18 that fraction whose value is 3 of origi-

nal fraction. What is numerator of original frac-
tion.

o =1 & 3191 STBR D)3 o | €, Afg
3 W ¥ 6 TS, @ IR 98 fae @

TSTHeRT A TRIETR T <Rl % 21 URftsR fir=
Y o=

(W6
(3) 27

(2) 18

(4) 36
(SSC CGL Prelim Exam. 04.07.1999 (First Sitting)
In'whole world, the ratio of land & wateris 1 :
2. Ifthis ratio is 2 : 3 in North hemisphere then
what is the ratio of land and water in South hemi-
sphere ?
T fava § gff iR v 1 e 12221 3l
ST e o 7 S 23 @ A <Rl ey
"H uft $iX o 1 U TR 22
(1) 3:4 (2) 4:3
(3) 4:7 4 4:11

(SSC Multi-Tasking Staff Exam. 16.02.2014)

If a quantity is divided in the ratio 3 : 5. If larger
part is 75 then what is the quantity.

I Tk RO ® 3 ;5% U H fawtS

(1) 2:1 2) 3:2 R ST ®, w1 | 75 ®1 g "and|
3) 3:1 4 1:4 (1) 120 (2) 130
(SSC CHSL DEO & LDC Exam. 11.12.2011 (3) 240 (4) 150

(Ist Sitting (Delhi zone)

(SSC Multi-Tasking Staff Exam . 16.02.2014

Add : 117/0/62 B-6 Crossing No. 9, Geeta Nagar, Kanpur

Mob. 9335615537, 9415728437



https://www.print-driver.com/?demolabel-en

IDEAL INSTITUTE

68
48. Thelowestratiois 10:18,7:21,12:16,820is 54. Which ofthe following represents a correct pro-
10:18,7:21,12: 16,8 : 20 § =Aq9 T portion ?
3 frfafed & o w0 W&l sga w1 i 82
(1) 12:16 (2) 8:20 (1) 12: 9=16:12
(3) 10:18 4 7:21 (2) 13:11=5:4
(SSC Multi-Tasking Exam. 23.02.2014 (3) 30:45=13:24
(Second Sitting) (4) 3:5=2-5
49. Ifx:y=5:2, then (8x +9y) :(8x + 2y) =7 _ y
?Zlfc: y=5:2 ?ﬁ 8x + 9 ) '(8x+ 5 )T:PJH m (SSC CGL Tier-Exam. 19.10.2014 (Ist Sitting)
XY s A OXTIY) y 55. Ifthe square of the sum of two numbers is equal

50.

51.

52.

53.

?
(1) 22:29
(3) 29:22

(2) 26:61
(4) 61:26
(SSC CHSL DEO & LDC Exam. 9.11.2014)

Which number has to subtracted from both part
ofratio 11 : 15 so that is become 2 : 3

ST 11 : 15T <A1 7 | - g el
S difer a8 2 : 3 59 Y ?
(1 2 2) 3
3) 4 4 5

(SSC CGL Tier-I Re Exam. (2013) 27.04.2014
Find two mean proportionals betwéen 2 and 54.

2 @R 54 % o9 3 HEAUR A i)
(1) 6and 18  (2) 6 and 2
(3) 12and 18 (4) 6and 9

(SSC CGL Tier-LRe-Exam(2013) 27.07,2014 (Ist Sitting)
Ifa+b+c=403and 32 4+p> +c2 =16 Then
Thena:b:¢:is
A at+tb+c=43 AR 224 b2 42 16,
FqUd a:b:c: 2
() 1:1:1 (2) 1:4/2:3
3) 1:2:3 (4) None of'these

(SSC CGL Tier-I Exam. (2013) 27.07.2014 (st Sitting)
The mean of 20 number is 55. If 45 & 30 are
removed then what is the new mean of remain-
ing numbers

20 W[ ST AL (mean) 5521 af 31 7 45 3R
30 frshtet & WG, @t 919 Wl 1 T W g
BT 2

(1) 65.1 (2) 653

(3) 56.9 4) 56

(SSC CGL Tier-I Re Exam. (2013) 20.07.2014 (IInd Sitting)

56.

ST

58.

to 4 times of their product, then the ratio of these
numbers is

e < WA & AN 1 A Ik [OHR
TR A T, A 3T HeAeN ol eTud feRa
B2

(1) 21
(3) 1:1

@) 1:3
@) 1:2
(SSC CAPFs SLé& CISF ASI Exam. 23.06.2013)

If the product of two positive numbers is 1575
and theirratio is 7 9, then the greater number is

afg A e/ GEest & PHwA 1575 |
SR ITehT SUT 7 OB, A €I @A HiA-H
g 2
(1) A5
@) 135

(2) 35

(4) 63
(SSC CGL Tier-Il Exam. 12.04.2015 TF No. 567 TF 9)
IfA:B=2:3andB:C=3:7,thenA+B:B
+C:C+Ais
qfc A:B=2:33B:C=3:7, 0 A+B:B
+C: C+ A% gm?
(1) 4:8:9 (2) 5:8:9
3) 5:10:9 (4) 4:10:9

(SSC CGL Tier-II Exam. 25.10.2015. TF No. 1099685)
If (x>~ y’) : (x* + xy +y?) = 5:1and
(x> —y?):(x—y)=7:1, thenthe ratio 2x : 3y
equals
g (x*— y)) : (X +xy +y?) = 5: 131
(—y?) : (x—y)=7:1, @ I 2x : 3y forean
ERET 2
(1) 4:1
(3) 4:3

2) 2:3
“4) 3:2

(SSC CGL Tier-II Exam. 25.10.2015 TF No. 1099685)
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59.

60.

If 18, x and 50 are in continued proportion, then
the value of x is

T 18 x 3R 50 forda THEE | €, @ x 61 AF ?
(1) 30 2) 3
3) 5 4) 32
(SSC CAPFs. SI, CISF ASI & Delhi
Police SI Exam. 22.06.2014
IfA:B=2:1andA:C=1:3,then A:B:C
is
aff A:B=2:13R A:C=1:3, @ A:B:C
1 B?
(1) 1:3:2 2) 1:2:6
3) 3:2:1 4) 2:1:6
(SSC CHSL (10+2) LDC, DEO & PA/SA Exam. 20.12.2015
(Ist Sitting) TF No. 9692918)

TYPE-II

Aand B have money in the ratio 2 : 1 If A gives
¥ 2, to B, the money will be in the ratio 1 : 1.

What were the initial amounts they had? A afx

B U 2: 1% U § = 2| I&'A, BH
2%o 3 M E, A AT o TR MY 141 H
U § B S B WREH H Seh W feha e
a1
(1) TI23R TO
(2) T163R T8
(3) T8ak T4
(4) T63mT3

(SSC CGL Prelitn Exam. 04.07.1999 (Firsf Sitting)
If a sum of money is to the divided among A, B,
C such that A's share is equal to twice B's.Share

B's share is 4 times C's share, thén their shares
are in the ratio :

Ifg frdt e 61 A, B, CH 39 y&R faafa
fran ST R A% 9 B 9 T 8 S B
AN C 1 4 T B, @ 39 T & 9T R TWER
ST T B2
(1) 1:2:4 2) 1:4:1
(3) 8:4:1 4 2:4:1

(SSC CGL Prelim Exam. 27.02.2000 (Second Sitting)

Divide 7,500 among A, B and C such that A's
share to B's shareisinratio 5 : 2 and B's share to
C's shareis in the ratio 7 : 13. How much will B
receive?

T7,500 1 A, B 3fk C ¥ 3@ YK sifey f&F A
3R B w9l & S S ;2 8 el B @R C
% WM T 1A 7 : 13 Bl B i foRat Tl
T BhfT?
(1) T 1,400 (2) T3,500
(3) T2,600 (4) T 7,000

(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
¥ 3400 is divided among A, B C, D in such a
way that the share of Aand B, Band C, C and D
may be as 2 : 3, 4 : 3 respectively. The sum of
shares of B and D is
3400 &9 A, B, C,D ¥ 38 ¥R fawfem fea
W & R ASTR B& 9, B 8fR C& W, C
K DS A HEAY: 2:3,4:3TA2:3H
S @B R D% A w1 4 -
(1) T2040 .7 (2) T 1680
(3).. Y 2000 4) X 1720

(SSC CGL Prelim Exam. 11.05:2003 (Second Sitting)
An amount of money is to be distributed among
P_Q and R intheratioef2 : 7 : 9. The total of P's

and Q's share is equal'to R's share. What is the
difference between the shares of P and Q ?

I R 257 . 9% U § P, Q &R RH
el S 21 3R P 3R Q& Wi w1 AW R &
G o SER 21 P 3 Q@ | w1 e fehan
27

(1) T 5000

(2) T 7500

(3) T 9000

(4) Information inadequate / =T STTATH 2

(SSC CGL Prelim Exam. 08.02.2004 (Second Sitting

750 are divided among A, B and C in such a

manner that A: Bis5:2and B :Cis 7 : 13.
What is A's share ?

750 ®o I A, BAC H 36 YR siar M40 B
% A:B=5:291 B:C=7:1381 AS 9
faT grm?
(1) 350
(3) T 140

(2) Y260
4) Y250

(SSC CGL Prelim Exam. 13.11.2005 (First Sitting)
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10.

The ratio of salary of A B& Cis3:2: 9. If C
gets 2100 more than that of B then what is sal-
ary of A?
A, B Al Co o o1 190 3 : 2 : 98, af% &l
¥ 2100 w1 Al &, @ AT 9 S
(1) T 900 (2) T 1050
(3) Y780 4) T 1320

(SSC CGL Prelim Exam. 13.11.2005 (First Sitting)
Instead of dividing ¥ 117 among P. Q. R in the

1

ratio E 5 47

ratio 2 : 3 : 4. Who gained in the transaction ?
117%. &% P,Q R 5 5 Za%agwﬁamﬁ

% W ITE 9 2:3:4 % A H o1 de o m@
TH HiA o9 H @ ?
(1) Only/%ad P
(3) Only/%ad R
(4) Both/SMf Qand/ 3R R

(SSC CGL Prelim Exam. 13.11.2005 (Second Sitting)
A & B starts a shared business by investing his
amounts in the ratio 5 : 6. After 8‘'months A.his
investment. In profit their ratio is 5 :'9. For how
many months B invests hisamount ?

5:6% ogud | ol Ifear «meR A IR B
I HE AU SRA i 2| 8 I8 & T
A ooft Sl e 1 SRS 9 H eruE
=l g3l BA Ul g fhan, E & faC
o ?

(1) 6 months/HE (2)8months/HE

(3) 10 months/H@ (4) 12 months/ HE

(SSC Graduate Level Tier-I Exam. 01.08.2010)

¥ 68000 is divided among A, B.and C in the

» by mistake it was divided in the

(2) Only / ®a@ Q

1
ratio 5 Z e The difference ofthe greatest
and the smallest part is :
3 68000 F A, B R CH =+ —@

2416
o s ST B1 Wl 99 3K wed B 9l W
SR BITI-
(1) T 6000
(3) 9200

(2) T 14440
(4) Y 16000

(SSC CGL Prelim Exam. 13.11.2005 (First Sitting)

I1.

12.

13.

14.

If ¥ 126.50 is divided among A, B and C in the
rat of 2 : 5 : 4, the share of B exceeds that of A
by
afs T12650F A,BAM CH 2:5:4%
3 | Sier ST Al BT 9 A Wi 37Ul
foram eifues g2
(1) T3650 (2) ¥35.50
(3) T3450 (4) T33.50

(SSC Graduate Level Tier-II Exam. 29.09.2013
¥ 700 is divided among A, B, C in such a way
that the ratio of the amount of Aand Bis 2 : 3
and that of B and Cis4 : 5. Find the amount (in
¥) each received, in the order A, B, C.
T 700 A B, C, & o9 38 y&R fawfea
el ST € o A SR B &1 Tf¥n w1 1quma 2
'3 2 SB TU1 C DR 61 A 4: 581 A,
B,C & &H.4 ¥d% &l W e TH I
hifsTU)
(1) 150,250, 300 4 (2)160,,240, 300
(3) 150,250,290 = (4)150, 240, 310

(SSC Graduate Level Tier-I Exam. 21.04.2013)
¥ 900 is divided among A, B, C; the division is

1 1 1
suchthat 5 of A's money = 3 of B's money = 1

of C's money. Find the amount (in ¥ ) received
by A, B, C.
T900%H! A, B, CH dfal WY &R 38 deam

wwﬁ%AﬁWw%=BﬁvﬁT

ED %zCﬁTrFQTW %,ﬁA,B,CWW
w1 g ufer (T #) fomat Bl 2
(1) 300,400,200 (2)350, 450, 100
(3) 200,300,400 (4)400, 150, 350

(SSC Graduate Level Tier-II Exam. 29.09.2013)
A sum of ¥ 53 is divided among A, B and C in
such a way that A gets ¥ 7 more than what B

gets and B gets ¥ 8 more than what C gets. The
ratio of their share is

T 53! T =1 A, B, CH 39 FhR daia fean
T & 6 A®I BH T 759 fired € 8 Bl C
Y T 8 R fired €1 TEIER, S TEEEl o S
EDI Y
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15.

16.

17.

71 ‘‘‘‘‘
(1) 16:9:18 18. A man left 8,600 for his If each daughter gets
1R - our times that of nephews and each son gets
(2) 25:18: 10 four times that of neph d each 5
3 1895 - 10 times that of nephew. What amount each daugh-
3) e ter will get
(4) 15:8:30 T SRR Y 8,600 TIT 3 5 92, 4 Ife qen

(SSC Multi-Tasking Staff

Exam. 17.03.2013, Kolkata Region)

¥ 1740 is divided among A, B and C such that

0.50fA=Y0.6 of B=T0.75 of C. Then C will
get

T 1740 A, B CH 39 whR faafa fean

T 2 TR AT 0.51 0.6 =C 1 0.75 81 TR

C & fopa T fier &2
(1) T580 (2) Y696
(3) T348 (4) Y464

(SSC Multi-Tasking Staff Exam.17.03.2013. Ist Sitting)
(SSC Graduate Level Tier-I Exam. 19.05.2013 Ist Sitting)

Divided ¥ 1250 among A, B, C, so that A gets

2 3
9 of B's share and C gets 1 of A's Share.
1250 ®o A, B, CH 38 YR wifeu f A)B&

2 3
AT T §3ﬁ'{C, A%ﬂmwzwﬁ|

(1) 200, Y800, T 250
(2) 200, 900, T 150
(3) Y150, T 800,300
(4) 200, Y900, 75
(SSC CGL Prelim Exam. 04.07.1999 (Second Sitting)
A, B, & C are partnersiin a company. In any

1
year a gets 3

gets ¥ 5000. How much amount did A get as
profit ?

A, B, 3R C T %ot § feeier 21 frdll

1
part of profit. B gets 1 partand€

aﬁﬁAﬁwww%ﬂmﬁw,Bﬁ %ﬂm

el 3T C 1 5,000 €YU T A HI 9 &
Feeaey fhad ®qu o ?
(1) 5000 (2) 4000
(3) 3000 (4) 1000

(SSC CGL Prelim Exam. 04.07.1999 (Fist Sitting)

19.

20.

2 v & T Bl afk gk 9wl A
1 IR TAT AT T4k o9 1 HdArSl T q1d T
A el @ Yages §t R AE F&1 B2
(1) T 100 (2) Y600
(3) Y800 (4) Y1000

(SSC CGL Prelim Exam. 27.02.2000 (Second Sitting)

Dheeraj Distributes his whole property among his
wife, three sons, two daughters and 5 grandsons

1
such that each grandson gets gparts of that of

each son or one tenth of that of each daughter His
wife gets 40% ofthat of the total amount get by
his sons and daughter. If each daughter received
property of1.25 Lakhthen what is the value of
property received byhis wife and three grandson

o, < qEl SR Wl % S 39 R
foafta st € foh T Al i T I @
fFo a1 TH-sTedl W fUEl T T @
T &1 Th-cgal 9 Al 3@ el i
He e a1 40 Ffaed I genEf g T
9 1.25 Tg T9F Hod 1 IREHfT g HiEl
A, BEh! Tt R < Al g W aReety
T T T T2
(1) 32,500
(3) 2,82,500
(4) Cannot be determined / f7#1ifta &Y
IERINSIIE |

Any amount has distributed among A, B & C, A

() 2,57,500

3 1
o par of total amount and B gets 1 part of

total amount C gets ¥ 81 then what is the amount
received by B.

g TRT A, B 3R C ¥ siel <l 81 A el i

gets

1
s 9 SR B e T 6 R

F 21 AR CHl 81 Fo W B 7, A B
T i B

&
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21.

22.

23.

(1) Y30
3) 132

2) 36

4) T40
(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
¥ 2010 are to be divided among A, B and C in
such a way thatif A gets ¥ 5 then B must get Rs.
12 and if B gets ¥ 4 then C must get ¥ 5.50. The
share of C will exceed that of B by
2010 93 & A, Bden CH 39 R favye
e 9 2 fR 3k A 5w fief @ B
12 €5 fiyed qen afs Bl 4 €0 fiyed @t C ol
5.50 ®93 fiel| faurem § C o1 971 B& 911 ¥
foram sifaen g2
(1) 620 (2) 430
(3) ¥360 4) Y270
(SSC CPO S.I. Exam. 16.12.2007)

¥ 600 are divided among A, B and C so thatT

2
40 more than 5 of A's share. ¥ 20 more than

9
— of C's

2
7 of B's share and ¥ 10 more than y

share are all equal. A's shares is
600 ®UT & A, Baem C ¥ 39 YR fasem

WW%%A@W@%@%“&W\W&T

%, B® 9T & %@ 20 ®9u 31fued qen C &

AT %ﬁlowafwwﬁwéw AT
T -

(1) Y180 (2) Y160

(3) T 150 (4) Y140

(SSC SAS Exam. 26:06.2010 (Paper-1)
¥ 750 is distributed among A, B € C gets to-
gether. B gets ¥ 125 more than of C and D gets
the some to that of C. What is share of A?

750 §YT I A, B, C, 991 D ¥ 39 YR 1 Sl
2 o Baen C o e foa fivern @ Sae €
AT 21 Bl C ol oien 125 ®9U firern @
N D H C o SRR feid 21 AT 91 1 272
(1) 100 (2) Y225

(3) Y275 (4) T325

(SSC Graduate Level Tier-II Exam. 01.08.2010)

24.

25.

26.

27.

By mistake, instead of dividing ¥ 117 among A,

1 1
B and C in the ratio 5 : 3 : 1 it was divided in

the ratio of 2 : 3 : 4. Who gains the most and by
how much ?

1170 1 A, Bt CF i~
FieT ST o W et W TEHRT 203 4 AU
T 9ier TN TE YRR 4§ fRasl e eify
% o g3 AR feha?
(1) A T28 (2) B, {3
(3) C,T20 (4) D,T25
(SSC CGL Prelim Exam. 04.07.1999 (First Sitting)

Mridulinvested ¥ 29500 to start a business. After
4 Monthsy With ¥ 33500 investment Shalaka
Joined. After twoyears, thereis a profit of ¥ 120575
in.the business. What is the share of Mridul ?
Teh SHRER 3TRY &t & faft J3a = T 29,500
! R w1 Fragfean 49&8R e 33,500
fravt wfgd getent S8 WY 98 TR I 9¥ 9]
HRER 4T 1,20,5751 @9 g3T @ 399 I3
w1 fe&qr fehaT en?
(1" T 60,725 (2) T61,950
(3) 159,250 (4) 58,625

(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
A sum of T 76 is divided among A, B and C in
such a way that A gets ¥ 7 more than that What
B gets and B gets T 6 more than What C gets. The
ratio of their shares is

T 76 %! TR, A, BTS CH 39 R fawfsa =t
S ® o A B W T 7 ek e € iR Bl
CH T 6 arferp faed T Sk I 1 UM
ERIELU
(1) 19:24:33 (2) 32:25:19
(3) 32:24:20 (4) 19:25:33

(SSC CGL Tier-I Re-Exam. (2013) 27.04.2014)
¥ 555 was to be divided among A, B and C in

1
the ratio of 1 : 5 : 5 But by mistake it was di-
vided in the ratio of 4 : 5 : 6. The amount in
excess received by C was
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28.

29.

30.

A,Bﬁ?CﬁTSSSﬁT@T%%%@W
o el S o TR T Y A 4056
s | dfe & I C Hl Rt ufr sifues
fheft 2

(1) 72
(3) T22

2) Y75
4 52

(SSC CGL Tier-I Exam. 26.10.2014
A man divides his property so that his son's share
to his wife's and wife's share to his daughter's
are both as inthe ratio 3 : 1. If the daughter gets

¥ 10,000 less than son, the value (in rupees) of 1

the whole property is
Tk SEHT ST Hata fawfe e € fon see

T R T TR qU Tl 3R P @ weR
1 U I 3 ;1% U H & afg P w6
T @ T 10,000 %9 &1 IR foera @ @ gl
Hufd 1 qea &9l #) fohaT gmm?
(1) T16,250 (2) T 16,000
(3) T18,250 (4) T 17,000

(SSC CGL Tier-II Exam. 21.09.2014)

In a partnership business, B's capital washalf of
A's. If after 8 months, B withdrew half of his

£
4
of his capital, then the profit.ratio of A and B
will be

TS HET HRER H B LGS AW ot ot afk 8
o 9% B orw ol e Fen @t eineiR

capital and after 2 menths more A withdrew

S 2 AR AT ol - o e

AR B o9 1 U TR 8im?
(1) 5:2 (2) 10:23
(3) 2:5 (4) 23:10

(SSC CGL Tier-II Exam. 12.04.2015 TF No. 567 TL9)
A and B entered into a partnership investing ¥
16000 and T 12000 respectively. After 3 months
A withdrew ¥ 5000 while B invested ¥ 5000
more. After 3 more months C joins the business
with a capital of ¥ 21000. The share of B ex-
ceeds that of C, out of a total profit of ¥ 26400
after one year by

A 3R B+ Th WEER I 3R %wEe: 16000
®YT SR 12000 €T &1 Faw fman 3 weH &
e AF 5000 €T et faw & B 5000
w0 SR Faw fRw o wEE % S’ C
21000 ®IT T YT TMRT HRER  IMHA 2
T Tk T9 9% 26400 ®UC & A9 H B HI
fewm C 9 foran sifues @ 2

(1) ¥ 2400 (2) Y1200
(3) ¥ 3600 (4) T 4800
(SSC CGL Tier-I Exam. 09.08.2015
TYPE-III

The sum of 5% of first number and 4% of sec-

ond‘number is 3 of sum 6% of first number and

8% of second number. The ratio of first number
to second numberis

fordl Tk WA b 5% R G T D 4%
ST G, gl HEA B 6% 3R TH P 8% F

aﬁww%%%ﬁa@wwa@W@

CRRICS
(1) 2:3 (2) 3:2
(3).3 4 4) 4:3

(SSC CGL Prelim Exam. 04.07.1999)
In a class, the number of girls is 20% more than
that of boys. There are 66 students in that class.
If 4 more girl join the what is the ratio of num-
ber of boys & girls.
fordl wen B, ASfRal &1 T TASHI Bl G&AT
T 20% @fereh B TH hel | w66 famef 7
e wmam H 4 SR ASfRAl 9o wT @ al
AgfRal 1 Gemstl w1 ST BhM-
(1) 1:2 (2) 3:4
3) 1:4 (4) 3:5

(SSC SAS Exam. 27.06.2010)

There is a ratio of 5 : 4 between two number. If

40 per cent of the first is 12, then 50% of the
second number is

T wEest ® o= 5 ;4 1 UM Bl qIIER,
If Tgel HT 40% 1 7H 12 7, T I8 e
1 50% TeRa B2

1) 12 ) 24

(3) 18 4) 20

(SSC Graduate Level Tier-II Exam. 16.09.2012)
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A certain amount of money is divided among x,
y and z. If x receives 25% more than y and y
receives 25% less than z, then x : y is equal to

X,y 01 2§ o oA foaid @i T B 98IEN,
TfE x ol y H 25% Afereh T fifeft 1 & y i
29 25% %8 TR el 71, @ x ;v : 2z ST
FA BIM?
(1) 14:12:13
(2) 15:12:16
(3) 10:9:12
(4) 12:10:11

(SSC Multi-Tasking Staff Exam. 17.03.2013. IInd Sitting)
A person ordered 4 shirts of brand A and some
shirts of brand B. The price of one shirt of brand
A was twice that of brand B. When the order
was executed, it was found that the numbers of
the two brands has been interchanged. This in-
creased the bill by 40% The ratio of the number
A shirts to that of brand B shirts in the original
order was

Tk SRR A S iGN HHS AvSie B !
FD RS 1 ST 1 TS Al T HHIS
1 Yo 1S B ! Tk RN § A1 Al ATA
M @ =en fh 9 Sisl il We e H
5 T 21 39 foe 40% =g T HeE ST A
i HHS ST TS B hil HHST D @ STIM
94'[_

1) 1:2
(3) 1:4

@)1 :3
@) 155
(SSC CHSL DEO & LDC Exam.11.12.2011)
(IstSitting (Delhi Zone)
A man ordered 4 pairs of black'socks and some
pairs of brown socks. The price of a black socks
is double that of a brown pair. Whilepreparing
the bill the clerk interchanged the number of
black and brown pairs by mistake which in-
creased the bill by 50% The ratio of the number
of black and brown pairs of socks in the original
order was :
T MK 1 He A & 4 Sl ad P A
% | gl 1 A=Y &1 3T wed Al B
qed R SEl 1 ST ol ST foed TaR
e fafts 3 Todt @ w oK el

e ° Ren-saRal o d, faas faa 5 50%
%1 gig 31 TR TRIIR, YA €9 § WIS & wd
qer ) SISl 1 STIAE FAT U1?

1) 2:1 ) 1:4

(3G) 1:2 “4) 4:1

(SSC CAPFs SI & CISF ASI Exam. 23.06.2013)
TYPE-1IV

The ratio of ages of two students is 3 : 2. One is
older to the by 5 years. What is the age of the
younger student ?

T faenfefal @1 g w1 U 3281 ST W
TF TR ¥ 58 a1 21 B famneff =1 om
ki

(1) 2years/ s

(2) 10 years/.aH

1
(3) 2§years/<‘>|'5f

(4) 15 years /@4

SSC CGL Prelim Exam. 08.02.2004 (First Sitting)
The ratio of ages of two persons is 5 : 9 and the
age of'one of them is greater than the other by

40 years. The sum of their ages in year is &
SRl &t 3 1 I 5 92 SR 3T W
T H1 g S W 40 T8 aifersk 21 IR 377
HUAN fehad ¥ B2
(1) 180 (2) 140
(3) 150 (4) 160

(SSC Constable (GD) Exam. 04.10.2015. Ist Sitting)
The sum of the age of a father and his son is 100

years now. 5 years ago their age were in the ra-
tio of 2 : 1. The ratio of the age of father and son

after 10 years will be

T a1 aen 931 ! JHE ST &1 aisa 100
99 € Ui 9 uEe Sl g 2 : 1% U o
offl 10 o8 9= fyar den g &I g F

ST BI-
(1) 5:3 () 4:3
(3) 10:7 4) 3:5

(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)
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Seven years ago. the ratio of A's age B's age was T g 1 3 T BN 8 TN ee W o7y R
4 . 5 and after 7 years their age will be in the T TR H Y HT SIAE 41
ratio 5 : 6. The present age of B is (1) 3:8 @ 2:5
799 96, AT BT 3 (TN H) 4: 5% A G) 1:2 @) 1:5
kil off; qer 7 TIHAEAS5: 6% StgHTd = =i . (SSC CHSLDEO;&Exam. 02.11.2014 (Ist Sitting)
B <! gdH = Y %z SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)
(1) 56years/ Y 8.  Theratio ofthe present age of Rahul and Rashmi
(2) 63 years/dd is2:1. The rat‘io of their age after 30 years will
(3) 70 years / % be7:6. W%l%h;%;e;ent age of Rahul ?

4) 77 years/ = &t ¥ 1 S 2 1
( ) ’ (SSC Graduate Level Tier-IT Exam.01.08.2010) %l 30 a-sf RARI W m R \?HTTI_CT 7:6 ml
Harsha is 40 years old and Ritu is 60 years old. TEA 1 adAN oY Rt € 2
How many years ago was the ratio of their ages (1) 6 years/dad
3:57? (2) A0 years / a4
7Y 1 g 40 9 € SR Rt & g 60 79 R @) 12years / T4
foha" 9 UETl SRl ST 1 STIUM 3 : 5 o2 (4) 20 years /%

(1) 10years/ EE] (SSC CGL Prelim Fxam. 04.02.2007 (Second Sitting)
(2) 20 years/3ad 9. Theratio between Sumit's and Prakash's age at
(3) 37 years/ Y present 1s 2 : 3 Sumit 1§ 6 years younger than
(4) 5 years/ds Praksahs. The ratio‘of Sumit's age to Praksash's

(SSC CGL Prelim Exam. 24.02:2002 (FirstSitting) age after 6 years willbe

Four years ago, the ratio of the’age of A.and'B gfa SR TR T T T ST 2 23
was 2 : 3 and after four years it will become 5 : 21 gfad, B ¥ 6 e B qgER 6 A
7 Find their present age. o, G STRYeRTeT Bl AT 1 ST Teha
499 Ted AR B I &g 1 SN 2 3 o g TR

oIl 4 9 UYEI I8 ST 5. 7 & W b 1. 2:3 () 1:2

AN Y 4 i (3) 4:3 4) 3:4

(1) 36 years and 40 years / 36 & R (SSC CHSL & LDC Exam. 28.10.2012. Tst Sitting)
40 99 10. The ratio of age of two boys is 5 : 6 After two

(2) 32 years and 48 years / 32 R
48 T4
(3) 40 years and 56 years /40 ad R
56 =
(4) 36 years and 52 years / 36 a4 R
52 =
(SSC CGL Prelim Exam. 24.02.2002 (Middle Zone)
My grandfather was 9 times older than me 16
years ago. He will be 3 times of my age 8 years

from now. Eight years ago, the ratio of my age
to that of my grandfather was

16 99 T8 W <RI H G IT A HY WY
Y | 8 T Sifereh off| 319 § 8 FH Ih! oMY

years the ratio will be 7 : 8. The ratio of their age
after 12 years will be

3| STefehl 1 @G 1 I 5 671 < a9 &%
U 7 0 8 BN 12 9¥ AIg 3! Y I
ST M-

y 2 ) 15
(M 24 ) 16
N Nl
®) 13 @ 1
SSC CPO S.I. Exam. 07.09.2003 & SSC CHSL DEO & L.DC Exam.

20.10.2013)
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I1.

12.

13.

The average age of boys in the classis twicethe 2.

number of girls in the class. The ratio of boys
and girls in the class of 50 is 4 : 1. The total of
the ages (in years) of the boys in the class is

el T TISh! i 3Hq 7Y Hell § ogihal i
Hem ¥ g 81 50 1 wen § weihdl @
S 4 121 Hel H Tl i he g (I
H) ferart 22
(1) 2000
(3) 800

(2) 2500
(4) 400

(SSC CGL Tier-I Exam. 19.10.2014 TF No. 022 MH 3)
The ratio of the ages of A and B at presents is 3
. 1. Four years earlier the ratio was 4 : 1. The
present age of Ais

AT W A 3R BT @11 1 39 3 : 1 81 9K
o gd STUI 4 1 o1 AhI SdEE o1 fenart €2
(1) 48years/ad  (2)40 years/ 8

(3) 36years/ad  (4)32years/TH
(SSC CAPFs SI. CISF ASI & Delhi Police

Exam. 21.06.2015 (Ist Sitting TF No. 8037731)
The current ages of Sonali and Monali are in
the ratio 5 : 3. Five years from now, their
ages will be in the ratio 10 : 7. The. Monali's
current age is :
Tt @R AFTe Bt IdEE S 5 ;3 S |
¢ @ W e 9Y SRSl 10 7% Sua
o B S Hilel i o, g 22
(1) 5years/ =¥ (2). 3 years/ o
(3) 9years/TH (4) 15 years/ad

(SSC CHSL (10 + 2) LDC. DEO & PA/SA Exam, 06.12.2015

TYPE-V

The average of two numbers is 62 1f2 is added
to the smallest number, the ratio between the
numbers becomes 1 : 2. The difference of the
numbers is

< Heet @ A 62 81 At SR we | 2 Wiy
o wTq @ S o egud 12 8 W @
sl w1 W 2
(1) 62
(3) 84

(2) 40
4) 44

FCI Assistant Grade-III Exam. 25.02.2012 paper-I
North Zone (Ist Sitting

A fruit seller sold big, medium and small sized
apples for T 15, T 10 and T 5 respectively. The
total number of apples sold were in the ratio 3 :
2 : 5. Find the average cost of an apple.

Toh Ha-Tashdl 7 98, ATEAH qef Bl 3THR &
T HAY: 15, 10 AN 5 ®IC H s9| TH THN
S T /A WSl ] STIAM 3 12 5 AN TEIAK,
SH U9 $1 AEd HIHd A BT
(1) T8 2) Y10
3) Y9 4) X7

(SSC CHSL DEO & LDC Exam. 21.10.2012 (IInd Sitting)
In a factory the average monthly salary of all
employees is ¥ 12000. The average salary of
male employees is T 15000 and that of female
employees is ¥ 8000. What is the ratio of male
and female employees ?

Tk S G wEE] o sfed Wi o
012,000 B ST TEN HEE ®1 fEa T
15,000 & 3R wfeen. wH=rE w1 T 8,000 2
TEIAR T&H T3 Afge HHaIRal b1 U foha
&7

(1) 5.2
(3) A3

(2)'3:4
4) 2:5

(SSC FCI Asst. Grade-III (Main) Exam. 07.04.2013)
The average of 11 numbers is 36, whereas aver-
age of 9 of them is 34. If the remaining two num-
bers are in the ratio of 2 : 3, find the value of the
smaller number (between remaining two num-
bers).
11 gemsii w1 sigd 36 8, wofh 38 @ 9
st 1 SiEd 34 31 A O 3 wemat &
UM 2 ;3 @, A WETH e & (V9 W
Heetl & &i9) 1 7H FaEt|
(1) 45 (2) 48
(3) 54 (4) 36

(SSC CGL Tier-I Exam. 2014 12.04.2015

(Kolkata Region) TF No. 789 TH 7)

In a library the ratio of story books and other
books is 7 : 2 and there are 1512 story books.
Due the collection of some more story books and
the said ratio becomes 15 : 4. The number of
story books collected is

Add : 117/0/62 B-6 Crossing No. 9, Geeta Nagar, Kanpur

Mob. 9335615537, 9415728437



https://www.print-driver.com/?demolabel-en

IDEAL INSTITUTE 3

T TEEEE | HE B Tl 3R e 4. If(a+b):(b+c):(c+a)=6:7:8and(a+b+

e W1 SIGU 7 27 SR 3T 1512 wefal
I TRl §1 BB AR HBE BT TR H
g oy 9 ¥ So U 15 4 8 W 2
HETEl w1 3R Fhal qHehl w1 HUE TR

T™?

¢) = 14 then what is value of ¢ ?

g (a+b):(b+c): (c+a)=6:7: 8% 3 (a
+b+c)=1478l, @ ¢ 99 fhaT g2
(1) 6 2) 7

3) 8 4) 14

(1) 108 (2) 100 (SSC (10 + 2) DEO & LDC Exam. 27.10.2013 (IInd Sitting)
(3) 205 4) 97 5. Iftwo numbers are in the ratio 2 : 3 and the ratio
bers. then the sum of the two numbers is
TYPE-VI < geAet 1 STud 203 7 SR I weme §
The students in three classes arein the ratio 2 : 3 8‘\’“54‘ TSI 3 2 4 T ST ® @ 3 <
: 5. If 40 students are increased in each class, the wemst w1 A 8
ratio changes to 4 : 5 : 7. Originally the total (1)<10 (2) 80
number of students was: ‘ (3) 40 4) 100
T wemetl & faenfer &1 gemst o1 3TuTd 2 (SSC CGL Tier-1 Exam. 16.08.2015)
-3 521 T el ¥ 40 famneff @@ fau s W (IInd Sittting TF No. 2176783)
T IE A 405 7 7 S T U o %a 6. lnaschool there was 1554 students and the ra-
forenfeiai =) e ofi- tio of thenumber of the boys and gets was 4 : 3.
(1) 100 (2) 180 After afew days, 30 girls joined the school but a
(3) 200 (4) 400 few boys left:<as a result the ratio of the boys
and girls became 7 : 67 The numbers of boys
(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting) .
Th ber of students in th | . who leftthe school is
engmgrc? students in three classes are in [ 3 1554 fenelt & @in @Al R
theratio 2 : 3 : 4. If 12 students are.increasedin a . ) :
each class, this ratio changes to 8 : 11 : 14. The ASRAl T TEAT T A 41 3 o KB A
total number of students in the three classes at 9% 30 Wsfhal 1 39 faumem | yewr o fom,
the beginning was - ‘ otgeh] + Taermer Big fean, yRummeaey wefhal
ou H 1 A ek ke § 12 faengdiiag S
p NEED HEH Tehddl o
Y, @ I8 19 8 o 11 14 aRafda gisid 1) 76 @) 74
HESEE IR Rt eI geae
< < o (3) 84 4) 86
(SSC CGL Tier-II Exam. 25.10.2015. TF No. 1099685)
(1) 162 (2) 108 7.  The ratio of two numbers is 3 : 4 and their HCF
(3) 96 (4) 54 is 15. Then the sum of the two numbers is :

(SSC CGL Prelim Exam. 17.07.2008 (First Sitting)
Two numbers are in the ratio of 3 : 5. if 9 be
subtracted from each, then they are in the ratio
of 12 : 12. Find the numbers.

T e 35 o W g1 Ak <A § 9 9
=121 fegn WTu, @ ST U 12 ;23 @1 S
TEIHR o HEAY J4 it
(1) 15,28 ) 36,115
(3) 33,55 4) 60, 69

(SSC Delhi Police S.I. (ST) Exam. 19.08.2012)

2 GEal w1 S 3 ;47 SN I HEwH
THEdE 15 81 @ S @S i A e
g2

(1) 105 2) 115

(3) 120 4) 110

(SSC CHSL (10+2) LDC. DEO & PA/SA Fxam.06.12.2015
(Ist Sitting TF No. 1375232)
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If A and B are in the ratio 4 : Sand the difference
of their square is 81, what is the value of A?

Ifg A 3R BT S 4 : 5 7 AR S ol
3 812 A AT UH fema B2

(1) 45 2) 12

(3) 36 @) 15

(SSC CGL Tier-I Exam. 16.08.2015
(Ist Sitting TF No. 3196279)

TYPE-VII

Zinc and copper are in the ratio of 5 : 3 in 200
gm of an alloy. How much grams of copper be
added to make the ratio as 3 : 57

200 U 1 T fHger S S e 5
3% U | 81 TH fehad W dfen feran
S qIfh 98 S| 3 5 8 S?

m 1By @ 5
3) 72 4) 66

(SSC CGL Prelim Exam. 24.02.2002 (First Sitting)

The ratio of copper and zinc in brass.is 13.: 7.
How much zinc will be there in 100 kg of brass?
200 U T ek THAHT] TS R e 5, 3
o o H 21 5E feRe T i e Sy
s I8 ST 3 /5@l §IL?
(1) 20kg. /fRao  (2)55 kg. / TR0
(3) 35kg/fwmute . (4)40kg /fRuTo

(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
There are three containers of equal capacity. The
ratio of Sulphuric acid to water in.the first con=
tainer is 3 : 2. that in the container1s.7 : 3 and in
the third container it is 11 :“4.Ifall the liquids
are mixed together, then the ratio of Sulphuric
acid to water in the mixture will be :

T URAR & d9 909 1 Ug aaq H Ty
% % o7l IR YT T U 3027, T o
o g% equd 7:3 % qon 9 wdq q 98 11
42\ 9fE 379 |l = fyen fean s, @t g9 fason
T Terh o ol SR UMY WhT ST @TI-
(1) 61:29  (2) 61:28

() 60:29  (4) 59:29

(SSC CGL Prelim Exam. 08.02.2004 (Second Sitting)

A container contains two liquids A and B in the
ratio 7 : 5. When 9 litres of mixture are drawn
off'and the container is filled with B, the ratio of
Aand B becomes 1 : 1. How many litres of liq-
uid A was in the container initially ?

T A H ATl B3 ga-9=1 7 5 egu H
g 39 i ° ¥ 9 X Fihrer & 9% 3o &
B % @R fan wan €, @ Aqen B 1 U 1
© 1% T B AEIER 39 oA H Re H & x4
A T A foRa e ofi?

1

(1) 26 @ 165
3 3

(3) 56, (4) 26

(SSCCHSL DEO & LDC Exam. 11.12.2011
(Ist Sitting (East zone)

Two tea having rates ¥ 136/ kg and ¥ 141/ kg

1s mixed in the ratio 243 "What is the price o 1

kilogram mixture ?

136 ®9u 9fd fhelim 7o "ot =/ 1 141

B (T R Jed el 9d % WY 20 3%

S S €1 e fhemm s w6

7 AT~
@) X138 (2) 13850
(3) 139 (4) ¥139.50

(SSC @ Fa1 7 (SAS) T, 27.06.2010)
A barrel contains a mixture of milk and water in
the ratio 3 : 1. How much fraction of the mix-
ture must be drawn off and substituted by water
so that the ratio of wine and water in the result-
ant mixture in the barrel becomes 1 : 1 ?
% A 3 1% egwd ¥ g9 SR uE
fygror 21 fagw =1 fora wm Femeret Sat &
aEn § ur faeren Sme, @ arfes afomdr faso

H g iR U T S 1: 1@ ST ?

1 1
(1) 1 (2) 3
3 2
3) 1 4) 3

(SSC CGL Prelim Exam. 08.02.2004 (First Sitting)
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In a alloy, zinc and copper are in the ratio 1 : 2.
In the second alloy the same elements are in the
ratio 2 : 3. If these two alloys be mixed to form a
new alloy in which to elements are in the ratio 5
. 8, the ratio of these two alloys in the new alloy is
ferdll fasreng o STeam e dfen 1: 2% U o
21 Tk SHd fageng § 3 r9@d 23 % U
o € afg 1 A fasrerget @ feAet Tt T2
Tagerg @l S, fSed 3 3 ofe9d 508
U H =, a1 7 faseng | I fAgege
g oqua # fhemdt S 2
(1) 3:10 (2) 3:7
(3) 10:3 “4) 7:3

(SSC CGL Prelim Exam. 27.07.2008 (Second Sitting)
Ajar contained a mixture of two liquids Aand B
in the ratio 4 : 1. When 10 litres of the mixture
was taken out and 10 litres of liquid B was
poured into the jar, this ratio became 2 : 3. The
quantity of liquid A contained in the jar initially
was

forelt e o <t et Aden BT 4 4 & STUd
o g anl 10 efteR fagm fAhTaer 39 85
10 X 59 B 8o W HdaH & R0 d I8
U 2 3 ° uiErfad Sl Sha o RehA
1 ARIR A off-
(1) 4 litres / et

(3) 16 litres /milex
(4) 40 litres / iteX

(SSC CGL Prelim Exam. 27.07.2008 (Second.Sitting)
A and B are two alloys of gold and copper pre-
pared by mixing metals‘in the ratio S 3'and 5':
11 respectively. Equal quantiti€s of these alloys
are melted to form a third alloy C. Thetatio of
gold and copper in the alloy C is

A7 B fag uqd & f9= 94 qen o i
HHIT: 5:37T1 5 11 % 19T # THeAeRY S
T Rl 3 S ergel Wl WHE HBNS i
et b el fag wrg C st i 81 T
ag CH |H 1 a9 ¥ U 8-

(1) 25:33  (2) 33:25

G) 15:17 (@) 17:15

(SSC CPO S.I. Exam. 09.11.2008)

(2) 8 litres / TileX

10.

I1.

12.

13.

Two types of alloy possess gold and silver in the
ratio of 7 : 22 and 21 : 37. In what ratio should
these alloys be mixed so as to have a new alloy
in which gold and silver would exist in the ratio
25:627
T YRR T T wqett B | qen =i 722
qe 21 :37 % o | 21 T g ungen
forg equa | fheman e, aifer =it fag-urg o
AT A =& 25 0 62 % T4 H fawgde g2
(1) 13:8 2) 8:13
G) 13:12 (4 6:9

(SSC Data Entry Operator Exam. 31.08.2008)
In one glass, milk and water are mixed in the
ratio3 : 5 and in another glass they are mixed in
the'ratio 6 : 1. In what ratio should the contents
of'the two glasses bemixed together so that the
new mixture contains milk and water in the ra-
tiol: 17
Uk, I A g9 qedul 3.0 5% eu |
faeme T 2 qen ww SR A 601w
I W ey TR < et & fason
TWeR ford AU | fHemen e, aifes e faso
o3y gAML 1 1% STOE H Bl?
(1).20:7 (2) 8:3
@) 274 (4) 25:9

(SSC Data Entry Operator Exam. 02.08.2009)
Acid and water are mixed in a vessel A in the
ratio of proportion should quantities be taken our
from the two vessels so as to form a mixture in
which the acid and water will be in the ratio of 9
047
Tk 09 AH STRA Qe UHT Rl 5 ;2 ST |
et S ® iR s B W 8 5% erurd |
TEIER 39 & o fHeol 9 few oqua o
g frepred ST TR 3TH st denm W

3@ 9 : 4 71 S
(1) 7:2 2) 2:7
(3) 4:7 4) 2:3

(SSC CHSL DEO & LDC Exam. 04.12.2011(Ist Sitting (East zone)
The ratio of spirit and water in two mixtures of
20 litre and 36 litre is 3 : 7 and 7 : 5 respec-
tively. Both the mixtures are mixed together.
Now the ratio of the spirit and water in the new
mixture is
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14.

15.

16.

20 offeX @i 36 <X & <1 g # feufie ik
STl W1 SU HHY: 307 SR 705 %1 A
fagon w1 sehea fhen fean AT fago o
fefie iR wid 1 oUW ®
(1) 25:29  (2) 9:10
() 27:29  (4) 27:31
(SSC CHSL DEO & LDC Exam. 11.02.2011 (Ist Sitting (Delhi Zone)
Alcohol and water in two vessels A and B are in
the ratio 5 : 3 and 5 : 4 respectively. In what

ratio, the liquids in both vessels be mixed to ob-
tain a new mixture in vessel Cintheratio7:57?

T I AT BH STeehige g T 1 Ao
UM 537U 5 ;4 S | 81 qEER o <Al
et forg 31U | == C | faemy e fw 7w
fasror § sreehlegdt qon UMY W1 STUE 7 5 @l
Sl
(1) 2:3 (2) 3:2
(3) 3:5 “4) 2:5

(SSC CHSL DEO & LDC Exam. 11.12.2011 (IInd Sitting{Bast Zone)
Two vessels contain milk and water in‘the ratio 3
2 and 7 : 3 Find the ratio in which the contents

of the two vessels have to be mixed to geta new
mixture in which the ratio of milk.and wateris2 : 1

T A W g A USR] STgHIa 3 2 98l 7
-3 8| TS9N, SH U] T4 Hifse, e
STHR ST SRl b THAON ) fHetehy g4 3R
U T U 2 DahT A e daR TR S
|

1) 2:1
() 4:1

(2) 1:2

4) 14
(SSC Graduate Level Tier-IT Exam.16.09.2012)
Avessel in filled with liquid. 3"parts of which
are water and 5 parts syrup. How much of the
mixture must be drawn of and replaced with
water so that the mixture may be half water and
half syrup ?
Th w0 H T U e e s, e e
T o1 € iR e fewmn fimy €1 <@ fasm 4 9
fraT 9 et 39 98el Sl Sell WY,
aIfer 396 S qen foRy @1 fewm enen-anen 9

Se?

17.

18.

19.

1 1
(1) 3 (2) 1
1 1
3) 3 4) F

(SSC Delhi Police S.I. Exam. 19.08.2012)
A can constains a mixture of two liquids A and
B in the ratio 7 : 5.When 9 litres of mixture are
drained off and the Can is filled with B, the ra-
tio of A and B becomes 7 : 9. How many litres of
liquid A was contained by the Can initially ?
T fesdl H 1 38 Aden BRI e 7: 5% o™
o B 59 9 Wi fason Febren o iR fes i B
Y R @ T, @ AT BRI STE 7 9 7
Toq: feod H 59 A A fohad @fieX &fi?
(1) 10 litres / <fTeX > (2) 20 litres / wileX
(3) 21litresy/ cleX  (4)25 litres / wileX

(SSC CHSL & LDC Exam. 04.11.2012 (IInd Sitting)
Two alloys are both made up of copper and tin.
The ratio of coppet and tininthe first alloyis 1 : 3
and inthe second alloy.is 2 : 5. In what ratio should
the two alloys.be mixedto obtain a new alloy in

which the ratio oftin and copper be 8 : 3?
< Tageng die.dA @ s 21 T faseng o o
T AR HT S 132, 0 g H 20571
AR, 31 S fagargst & fog oo o
Toemn =nfew, @fer =€ fas =g § 99 qen dfe
1 STU 8 : 3 7 WU
(1) 3:5 (2) 4:7
(3) 3:8 “4) 5:11

(SSC CHSL DEO & LDC Exam. 27.10.2013 IInd Sittting)
A mixture contains alcohol and water in the ra-
tio 4 : 3. If 5 litres of water is added to the mix-

ture, the ratio becomes 4 : 5. The quantity of
alcohol in the given mixture is

T a0 o sToshiga qe 9ial 1 STUM 4 : 3
21 s et g § 5 ot Wi iR fren fean
WU, S 4 5 €l Wl 1 S9N, $9 Y
g o sroehigel w1 AN feRaHl 82

(1) 3litres/ X (2)4 litres / witeX

(3) 15litres /e (4) 10 litres / wileX

(SSC CHSL DEO & LDC Exam. 27.10.2013 IInd Sitting)
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20.

21.

22.

3
A liquid 'P' is 17times as heavy as water and

2
water is 1§ times as heavy as another liquid 'Q'".

The amount of liquid 'P' that must be added to 7
litres of the liquid 'Q' so that the mixture may
weight as much as an equal volume of water.
will be

@ia'P'uﬁﬁ@aﬂTﬁl%w it & qen

uﬁwm;a'Q'ﬁmﬁl%wﬂﬁ%

7R 'Q'sa ® P'Ea *1 fRadt wmn faemd
aifer fagm w1 9R 3Ia € 7 oA fe g
AT a1 qHT T 2

1
(1) 7litres/ e (2) 5€litres/€ﬁ?{

2
(3) Slitres/weX  (4) 45 litres / &fTex

(SSC CGL Prelim Exam.04.02.2007 (First Sitting)

Intwo alloy A and B, the ratio of zine to tin is 5
2 and 3 : 4 respectively. Seven kg of the alloy
A and 21 kg of the alloy B are mixed together to
form a new alloy. What will be the ratio of zine
and in tin in the new alloy?

T fagurget A 9o B ®, S e feq &
HEI: 50 2qULB 421 I MHEeTgeli W W A
7 fohm qen B 1 21 i foefey T = fse
T4 I T ¥ S9N, g9 T faseng § ST
qen fed o1 U fohaen @1 smem?
(1 2:1 ) V:2
(3) 2:3 4 1:1

(SSC CHSL DEO & LDC Exam. 10.11.2013y1st Sitting)
729 ml of a mixture contains milk and water in the
ratio 7 : 2. How much more water is to be added to
get a new mixture containing milk and water in the
ratio 7 : 37
729 foeft fasor H wHw: 7:2% SUW H 3™
AR g B SEH fema W @R e Sy
o T fagor § o oiR a1 STuT A
7:3% W@ ?
(1) 81 ml/THedt (2) 60 ml/ ot
(3) 71 ml/Thedt (4) 52 ml/ it

(SSC CGL Tier-I Exam. 09.08.2015(Ist Sitting) TF No. 1443088)

23.

24.

25.

There are two containers of equal capacity. The
ratio of milk to water in the first containeris 3 :
1. Inthe second container 5 : 2. If they are mixed
up, the ratio of milk to water in the mixture will
be

T & & 3 R & T8 § 3¢ SR T hl
U 318 iR T H 528 3k 32 firem
fean St frsron & 9o 7R U % et figa
7 STem?
(1) 28:41
(2) 41:28
(3) 15:41
(4) 41:15

(SSC CGL Tier-II Exam. 21.09.2014)
A'vessel contains 20 litres of acid. 4 litres of acid
is taken out of the vessel and replaced by the
same quantity of water. Next 4 litres of the mix-
ture are with drawn, and again the vessel is filled

with the same quantity ofacid left in the vessel
with the quantityof acid initially in the vessel is

T i § 20 e ufue @1 sed W 4 o
T T BT 3Eh TIH W 3Iat & JHET H
et g @ S 21 TR 3Ed 9 4 ofier fagm
TRl foran S € iR = o St € A o
T ST feE ST @1 wdA | s e w1 A
3R wRH o TS 1 A 1 U 1 E?
(1), 4:5 (2) 4:25
B) 16:25 () 1:5

(SSC CGL Tier-1I Exam. 2014 12.04.2015

(Kolkata Region) TF No. 789 TH 7)

In two blends of mixed tea, the ratios of
Darjeeling and Assam tea are 4 : 7 and 2 : 5.
The ratio in which these two blends should be
mixed to get the ratio of Darjeeling and Assam
tea in the new mixture as 6 : 13 is

fufg =@ & < fagol o Seifan ok erm
9w S 407 SR 25 €1 S <A
w1 forg s o faoman s fo Srefifan et
3GY A 1 U ¢ fAge § 6 138 S 2
(1) 22:35  (2) 26:35
() 35:78  (4) 13:22

(SSC CGL Tier-Il Exam. 2014 12.04.2015
(Kolkata Region) TF No. 789 TH 7)
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26.

27.

28.

In a mixture of three verieties of tea, the ratio of
their weights is 4 : 5 : 8. If 5 kg tea of the first
variety, 10 kg tea of the second variety and some
quantily of tea of the third variety are added to
the mixture, the ratio of the weights of three va-
rieties of tea becomes as 5 : 7 : 9. In the final
mixture, the quantity (in kg) of the third variety
oftea was

T fredl &1 =9 & fHEe ° ST oeH
S 4 : 5 : 8 81 A wEeA o w1 =@ S R,
0 frer # =@ 10 B iR diel fre
@ ® H/S T Ay o fher W d=
forel @1 W™ & FoM 1 STUM 5 7 9 W
i 21 aRome fagmr & e foRem &Y = @y
e (R ) feat § 2
(1) 42 (2) 45
(3) 48 (4) 40
(SSC CGL Tier-II Exam 2014 12.04.2015
(kolkata Region) TF No. 789 TH 7)
60 kg of an alloy A is mixed with 100:kg of
alloy B. If alloy A has lead and tin in.the ratio 3
: 2 and alloy B has tin and copperdn the ratio 1
-4, them amount of tin in the new alloy.is

60 frm fageng A st 100 fopm, fageng B &
T fufsg fepan wman 21°af e A O @i
R e 3 ;2% ITUR W 8l IR fugeng B # fo
SRl 1 : 4 U 9 @i, al T g o fo
I T BA
(1) 53 kg / e
(2) 44 kg / .
(3) 80 kg / ferm.
(4) 24 kg / e

(SSC CGL Tier-I Exam. 25.10.2015, TF No. 1099685)
Two blends of a commodity costing Rs. 35 and
Rs. 40 per kg. respectively are mixed in the ra-
tio 2 : 3 by weight. If one-fifth of the mixture is

sold at Rs. 46 per kg and the remaining at the
rate of Rs. 55 per kg the profit percent is

foRel o & U 35 ®UY R 40 BUC Wi
form. =1 @mTd aret 3 fase 1 g9 @ STER
2:3% oqua H fufem fean s 21 afg

%ﬁqw%wuﬁrm. 3R 99 55 ®9U uha

29.

30.

31.

frm, &1 W W 9= S ®, @ enw wfavred
feret B2
(1) 50
(3) 40

(2) 30

(4) 20
(SSC CGL Tier-IT Exam. 25.10.2015, TF No. 1099685)
A vessel full of pure acid contains 10 litres of it.
of which 2 litres are withdrawn. The vessel is
then filled with water. Next 2 litres of the mix-
ture are withdrawn. and again the vessel is filled
up with water. The ratio of the acid in the vessel
with what the of the original quantity is

IS s ¥ R Mg e ¥ 10 forex wfae
2 fored 9 2 forex frepret foran < 21 9@ @1”
SHEAE R o s ?1 fR 2 faet fagm @
Rt foran wmar @ik o Wi R | o fean
ST Bl UL H o)/ g TS SR SHehl yRiHed
BN 1 ST 272
(1)l 5 (2).4 5
(3) 4:25 @) 16225

(SSC CGL Tier-I Exam. 19.10.2014TF No. 022 MH 3)
Gold is 19 times as heavy as water and copper is

9 times a8 heavy,as water. In what ratio should
thesebe mixed to get an alloy 15 times as heavy

as'water?

AT TR 19 7o R @ SR e ae @ 9 T
i 21 T W 15 7en iR fager s @ fae
1 urgett i foew st o fhafsa fear S
=MET?

(1) 1:1
(3) 2:3

2) 1:2

4) 3:2
(SSC CGL Tier-I Exam. 19.10.2014 TF No. 022 MH 3)
Three vessels whose capacities are 3 : 2 : 1 are

completely filled with mixed with water. The
ratio of milk and water in the mixture of vessels

1
are5:2,: 1and 4 : 1 respectively. Taking gof

1 1
first, 5 of second and F of third mixtures. a new

mixture kept in a new vessel is prepared. The
percentage of water in the new mixture is

3:2: 13k &5 A 99 oa 9 e g9 9
T gU E S § W@ g F g o ur

Add : 117/0/62 B-6 Crossing No. 9, Geeta Nagar, Kanpur

Mob. 9335615537, 9415728437



https://www.print-driver.com/?demolabel-en

IDEAL INSTITUTE

83

32.

33.

34.

S AL 520 13 4 171 T8 T o

%,H;F@W %ﬁﬁﬁﬂ%w %WW@W

g ¢ s H TR TR Sar 1 A fago o
o ST gfaRTd S B2
(1) 28 2) 32
(3) 30 4) 24

(SSC CAPFs SI. & Delhi Police SI Exam.

21.06.2015 IInd Sitting)

Three utensils contain equal quantity of mixtures

of milk and water intheratio6:1,5:2and 3 :

1 respectively. If all the solutions are mixed to-

gether, the ratio of milk and water in the final
mixture 1s.
i wd= o o SR u % fHEr ) wmE /e
HOY: 6:1,5:23R 3: 1% gua | 21 4fg
g4t fagon =1t W fuen fon sme, @ sifaw
fagor & o SR Ut 1 euE @ g
(1) 65:28  (2) 65:19
() 19:65  (4) 19:28

(SSC CGL Tier-I Re-Exam. 30.08.2015)
A mixture contains milk and waterinthe ratio 5

. 1. On adding 5 litres of water, the ratio.of milk
and water becomes 5 : 2. The quantity of milk

in the mixture is :

% e # o ST T Sgu| 5 1R
3g9 5 it uH e W oge SR we
IO 5 ;2 @S @ fHgm A 3 %! A
et 22

(1) 25 litres / &ffex

(2) 32.5 litres / ©feX

(3) 16 litres / «ffex

(4) 22.75 litres / ©fTex

(SSC CHSL (10+2) LDC. DEO & PA/SA

Exam. 06.12.2015 (Ist Sitting) TF No. 1375232)

A vessel contains 60 litres of milk, 12 litres of

milk is taken out from it and replaced by water.

Then again from mixture. 12 litres is again taken

out and replaced by water. The ratio of milk and
water in the resultant mixture is :

TF o7 o 60 TiX 391 21 380 § 12 7R g
FepTeTeRt W R T S B e 9 5w T
T ° 12 X e 396! S8 U ST
fan S 21 oRonfa fagor § g iR g o
STUT U T BT ?

(1) 15:10 2) 16:9
3) 9:5 4) 16:10

(SSC CHSL (10+2) LDC DEO & PA/SA Fxam. 06.12.2015
(TInd Sitting) TF No. 3441135)

TYPE-VIII

The income of A, B and C areintheratio 3 : 7 :
4 and their expenses in the ratio 4 : 3 : 5. If A
saves Rs. 300 out of an income of Rs. 2,400, the

saving of B and C are :

A, B3R Chl @i § 3:7: 4% U ? 3R
3T oA W 43 ;51 A 21 A% 2, 400 Fo
%1 o § ¥ ARs.300 =T 81, A B @R C
R

() RS, 4025 and 3R & 575

(2) Rs.1575 and /¥R 2.625

(3) Rs.2750and / ¥R 1.525

(@), Rs. 3725 and / &R 1,525

(SSC CGL Prelim Exam. 04.07.1999 (First Sitting)
A and’B have monthly incomes in the ratio 5 : 6
and monthly/expenditures in the ratio 3 : 4 If
they save'Rs. 1800 and Rs. 1600 respectively,
find the monthly income of B :

A 9K B ! HIfeR o1 5 : 6 S H € T S
ek 59 <l 3AR 3 ;4 81 A o W W wE:
1800 3T 1600 %! = <hid &, o Beh! AR 3T
EIETIE LS
(1) 3400
(3) 1720

(2) 2700

(4) 7200
(SSC CGL Prelim Exam. 24.02.2002 (First Sitting)
The ratio of income of two personsis 5 : 3 and
that of their expenditures is 9 : 5. Find the in-
come of each person, if they save 1,300 and 900
respectively.

3 ARl i T 1 SUE 5 3B AT ITH
=g 1 U 9 : 5 81 AR o HAEw: T 1,300
AR T 900 1 9= I 7, d TAH I A
T HifTT?

(1) T 4,000, T 2,400

(2) 3,000, T 1,800

(3) Rs. 5,000, Rs. 3,000

(4) Rs. 4,500, Rs. 2,700

(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
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The income of A, B and C areintheratio 7 : 9 :
12 and their spending are in the ratio 8 : 9 : 15,

1
If A saves 1 th of his income, then the savings

of A and B and C are in the ratio of :
A,B3R Col 3@ 7:9: 12 U@ § ¢ a0
S o9 809 : 15 I | Bl AfE A 7ot

M %WW%,@ABaﬁICﬁW

T ST -
(1) 56:99:69
(2) 69:56:99
(3) 99:56:69
(4) 99:69: 56
(SSC CGL Prelim Exam. 11.05.2003 (Ist Sitting) &
SSC CGL Tier-I Exam. 26.06.2011 (IInd Sitting)
A man spends a part of his monthly income and
saves a part of it. The ratio of his expenditure to
his saving is 26 : 3. If his monthly incomes is Rs.
7250. What is the amount of his monthly sav-
ings?
Th R ST T & HF AN k| HF H
? QU1 BB 9N 1 F90 DLl SHh 73R
T 1 UM 36 ;3 Bl SHAT HiGH 1 Rs.
7250 7 @ 3HH! Gifsh = fhoel 72
(1) 350 (2) 290
(3) 750 (@), 780
(SSC CGL PrelimExam. 08.02.2004 (Second Sitting)
The ratio of income of twe persons is 5 :3..and

that of their expendituresis 9 : 5. If they save
2600 and 1800 respectively, theirincomesare :

3 ARl i T 1 SUELS, 3 B AU IR
9 1 IFAE 9 : 5 1 AR HAWAMT 2600 3R
T 1800 T 9= Y &, T ITh! A &-
(1) T8000 ; T 4800
(2) T 6000 ; T 3600
(3) T10000 ; T 6000
(4) T9000 ; T 5400

(SSC CCL Prelim Exam. 13.11.2005 (First Sitting)
Incomes of A and B are in the ratio 4 : 3. and
their annual expenses in the ratio 3 : 2. If each
saves ¥ 60,000 at the end of the year, the annual
incomes of A is

10.

AT BHI AH T 4 ;3 ST | qefl
ST aIftfeh =9 3:2 % d=d ° 1 afg 9 &
3d § 39 ¥ ¥ T 60,000 HT s=d wH, ql
AT At o B-
(1) ¥1,20,000
(2) 1,50,000
(3) ¥2,40,000
4) ¥ 3,60,000

(SSC Data Entry Operator Exam. 02.08.2009)
The monthly salaries of A, B and C are in the
ratio 2 : 3 : 5. If C's monthly salary is ¥ 12,000
more than that of A, then B,s annual salary is

A BT C& Wfdsh a9 2:3 : 5% U |
£14af% C 1 s I A% wifaeh dad 9 T
12,000 siferes &1, A B &1 a1fies dad M-
(1) T 1,20,000
(2) T 1,44,000
(3) T1,80,000
(4) ¥2,40,000

(SSC CHSL DEO & LDC Exam. 28.11.2010 (IInd Sitting)
Ratio betweenthe monthly incomes of A and B

is 9: 8 and the ratio between their expenditures
is 84 7. If they:save 500 each, find A's monthly

ihcome:
A 3R B! Wi 39 1 UM 9 : 8 € 3N
S, @ 1 I 8 ;781 A% S 9 ek
FI'Fad T500 7, T AR Aifdes o femat
oft?

(1) 3,500
(3) 4,500

(2) 4,000
(4) 5,000

(SSC Multi-Tasking (Non-Technical)

Staff Exam. 20.02.2011

Annual incomes of Amit and Veeri are in the ratio
3:2, While the ratio of their expenditureis 5 : 3.
If at the end of the year each saves ¥ 1,000. the
annual income of Amit is
SfHa qem & T At o™ 3 2% ST |
€, STelfeh ST @9 5:3 % o1quE | 21 qEIEK,
fs 379 Y% I T8 & H[d H I=d < 1,000
B, o wfi w1 i o e 82
(1) T9,000 (2) 8,000
(3) T7,000 (@) T6,000

(SSC Graduate Level Tier-II Exam. 16.09.2012)
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11. Theratio of the incomes of Aand B aswell asof 2.
B and Cis 3 : 2. If one third of A's income ex-
ceeds one fourth of C's Income by 1000,what is
B's income inT ?

AT B 34 1 U SR B e C Wi
@ 1 A 3 ;2 | TRAER, G AT
@ A, C Y o & e 9 ¥ 1000 Y
% @, @ B o fheft €2 (TH)?
(1) 3000 (2) 2500
(3) 3500 (4) 4000

(SSC CHSL & LDC Exam. 28.10.2012 Ist Sitting)

12. A and B have their monthly incomes in the ratio
8 : 5, while their monthly expenditures are in
the ratio 5 : 3. If they have saved 12,000 and
10,000 monthly respectively, then the difference
in their monthly incomes is

A 3R B HifEeh M9 8 5 o ® 2

Sfefeh SeRT HIfH 49 53 % U H B

afg =i %Aw: T 12,000 R T 10,000 1

e S=d hi &1, Tl S7h! AITES 3 H R

fema 22

(1) T52,000 (2) T 42,000

(3) T 44,000 (4) T 46,000

(SSC CGL Tier-IT Exam. 25.10.2015. TF No. 1099685) 4.

13. Incomes of x and y are inthe ratio 4:3. Their ex=

penditures are in the ratio.12:7. Both save T 3200

at the end of the month, then the income of x is

X 3N y ! SGA: 3% UG 2| 3T Y

12 7% U 83 & HEH & ofa § T

3200 %1 =0 YA 8, Gl x B A4 fengl 82

(1) T 8000 (2) T 6000

(3) Y2000 (4) Y4000

(SSC CAPFs. SI, CISF ASI & Delhi Police SIExam, 21.06.2015 (Ist
Sitting) TINo. 8037731)

TYPE-IX 5.

1. ¥ 180 contained in a box consists of one rupee,
50 paise and 25 paise coins in the rario 2 : 3 : 4.
What is the number of 50 paise coins?

foret == o T180, T1,50 U9 &R 2599 =
feren] & &9 § W@ gY § TSR UM 203 ;
471 50 U9 aret Toepl w1 EeA o 27
(1) 60 ) 120

(3) 150 (4) 180

(SSC CGL Prelim Exam. 04.07.1999 (Second Sitting)

A bag contains Y90 in coins of denominations
of 50 paise, 25 paise and 10 paise. If coins of 50
paise, 25 paise and 10 paise are inthe raio 2 : 3
- 5, thent the number of 25 paise coins in the bag is

forelt dct & T oot T 509, 25T @ik 10
T % faenl & w0 F € Ak 50 19, 25 19
R 10 U9 & Toeepl o1 UM 2:3: 5.7,
g o 25 U0 & Toeepl 1 wEA -
(1) 80 (2) 120
(3) 100 4) 135

(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)
There are ¥ 225 consisging of one rupee, 50 paise
and 25 paise coins. The ratio of their numbers in
that etder is 8 : 5 : 3. The number ofd one-rupee
coins is.:
T 225 & U T TR T, 50 T8 SR 25 T
% foaal & ®9F 2| ! Tt 3H %A |
8.5 :3. % UK U V' TH ®Ud & Toaehl
T 2
(1) 80 @) 112
(3) 160 (4172

(SSC'CGL Prelim Exam. 08.02.2004 (Seond Sitting)
A box.contains 1-Rupee, 50-paise and 25-paise
coins In the ratio 8 : 5 : 3. If the total amount of
money in the box is ¥ 112.50, The number of 50-
paise coins is
Th S o T, 50 T9 Ten 25 U9 oot T 8
157 3% o | € A iy | e o9 W
T112.50 7, @ 50 T9 fooe! &1 dean 2-
(1) 80 (2) 50
(3) 30 (4) 42

(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)

Aboy has a few coins of denominations 50 paise,
25 paise and 10 paiseintheratio 1 : 2 : 3. If the
total amount of the coins is ¥ 6.50, the number
of 10 paise coins is

T dgh % 9 50 T, 25 T8 Ten 10 99 g
1 % e fodes 1:2:3.% o 9 21 49
fgeren] 1 el T 6.50 ®IC B df 10 T4 a1t
foeenl 1 TE&AT 8-

(1) 5 2) 10

3) 15 4) 20

(SSC CGL Prelim Exam. 27.07.2008 (Second Sitting)
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There are 480 coins in half rupees, quarter ru-
pees and 10 paise coins and their values are pro-
portional ot 5 : 3 : 1. The number of coins in
each case are

50 U9, 25 U9 3R 10 U9 &% e 480 faerh €
SR qed 503 1. % S H Bl qRIER S
Toeh &1 HEm 2-
(1) 100,200, 180  (2)50, 30, 400
(3) 150, 180, 150  (4)300, 90, 90

(SSC Mulit-Tasking Staff Exam. 17.03.2013. Is Sitting)
A box contains ¥ 56 in th form of coins of one
rupee, 50 paise and 25 paise. The number of 50
paise coins is double the number of 25 paise coins

and four times the number of one rupee coins.
How many 50 paise coins are there in the box?

wh e § T56% T ®IC AT, 50 TH e
R 25 TEl o T €1 S 50 UE o
ferenl w1 WA 25 UGl orel foeenl o T @
R ®UT o Toep! | =T 21 GEIER $H 50
T4 & foen] &1 we foha 82

(1) 52 ) 64

(3) 32 4) 16

(SSC FCI Assistant Grade-II Main Exam. 07.04.2013)

TYPE-X

A starts from P 10 another place Q. At the same
time B starts“from Q to P.If after meeting t0
each other A & B takes 4 hours & 9 hours re-
spectively to reach their destination. Whatisthe
ratio of their speeds.
ATH WM P ¥ W M Q Hl S shnfat
@M Bl 21 ek SH gHa B M QY Pl
WM & fau @ W # A weR e @
YA AT B T0H T=iedi § g H HH: 4
AT O U WA B, Al SR wTell shi SIUTd BIT-
(1) 3:2 (2) 5:2
(3) 9:4 “4) 9:13

(SSC CGL Prelim Exam. 08.02.2004 (Second Sitting)
In a family of 15 members, each member re-
quires equal quantity of rice. At a particular day,
due to absence of some members the consump-
tion of rice is reduced in the ratio 5 : 3 what is
the number of absent members at that day.

15 95l & Th URER % TO% W™ i
el 1 HHH W 1 Skl gl 21 fondt
Ty f&9, TRaR & %3 951 & sufeerd g
% IO 39! A I @Id H 5 ;3 A
¥ wl g3l 39 T 9RER & sgufed 9=
S qeA off-
(1) 3 2) 6
3) 8 4 9

(SSC CGL Prelim Exam. 13.11.2005 (Second Sitting
The ratio ofthe first and second class train fares
between two stationsis 3 : 1 and that of the num-
bers of passengers travelling between the two

stations by first and second classes is 1 : 50. If
onl a particular dayy 1. 325 are collected from

passenger traveling between the two stations,
then the amount.€olected from the second class
passengers 18

Tl R & o gty et St &
A-fotEl 9 3 A AU R S BIE @
= A I e goy den fgdta afei &
it Y Weet s 1 50 81 afs fendt
faeigefsa, s g9 €yl & o9 aEn e
et AT § R d-ferrn T 1,325 9 gan
g3 2, A fEdta Soft = i 9 feha ta-fehmn

T, g31?
(1) 1,250 (2) 1,000
(3) 850 4) 750

(SSC CGL Prelim Exam. 13.11.2005 (Second Sitting)
In a school having roll strength 286, the ratio of
boys and girls is 8 : 15. If 22 more girls get ad-
mitted into the school, the ratio of boys and girls
becomes

286 faenfelal aret ek faume™ ¥ @ge! qn
gfehal Sl Head 8 : 5% eru § €1 Afg 22
3 AgfRal faae™ ¥ fEen & o, @ a8
TN AR I AR HT STA BT ST~
1) 12:7 2) 10:7

() 8:7 @) 4:3

(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)
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The ratio of the first and second class fares be-
tween two railway stations is 4 : 1 and that of
the number of passengers travelling by first and
second classes is1 : 40. If on a day ¥ 1,100 are
collected as total fare, the amount collected from
the first class passengers is

T I WyHl & o9 gom qen fgde g &
Tt @1 STU 4 ¢ 1 qen wom qen fgdta o
I A AMC AT BT H&AT 1 ST 1 : 40
21 afe ferdlt fam et fopwran T 1,100 W &, @t
3oH gom gvit & Wit @y fmwEn gim-
(1) 315 (2) Y275
(3) T13750 (@) T 100

(SSC Data Entry Operator Exam. 02.08.2009)
The ratio of work done by (x-1) persons for (x +
1) days and (x + 2) persons for (x - 1) days is 9
: 10. What is the value of x ?
(x —1) ==t g1 (x + 1) T o fpw @ =&m
IR (x +2) Al 510 (x - 1) 't o fopw v
1 UM 9 : 10 Bl TEIHR x 1 HF Teperl
BI?
(1 5
3) 7

(2) 6
4) 8
(SSC CHSLDEO & LDC Exam. 11.12.20011
East Zoneé : IInd Sifting)
An employer diminishes the number of his em-
ployees in 9 : 8. and increases their salary in 14 ;
15. If initial salary bill as 18900..Jn what ratio
the salary bill reduced?
Tk R ST IR T W 9 18
A W WA B SRS A 14 W15
S | STl 71 A yRieh o faet 18,900
off, Al da foel fhE oFId o A ge 22
(1) 20:21 (2) 21:20
() 20:19 (4 19:21
(SSC Graduate Level Tier-I Exam. 04.09.2011)
A, B and C are batsmen. The ratio of the runs
scored by them in a certain match are given be-

low:

A:B=5:3andB:C=4:5 Inallthey scored
564 runs. The number of runs scored by B is :

A, B A€l C Soeias €1 T 59 H 39 g ST
T F e A fag T g

10.

I1.

A:B=5:3TMB:C=4:537 99 7 /A 564
W Y €| qR9ER, B §R1 S W fohad €2
(1) 124 (2) 104
3) 114 (4) 144

(SSC CHSL DEO & LDC Exam. 04.11.2012 Ist Sitting)
A person bought some rice and wheat for ¥ 380.
The ratio of weight of rice and wheat is 4 : 3 and

the price of equal amount of rice and wheat is in
the ratio 5 : 6. The rice was bought of worth

% A 7 B Aed SR T 380 T H
@il 3T AEd q WG TR HT S 4
13 o SR THHAE HEN & Aed iR TE
TeI-TU 5 6 ol TEJUR &8 =ad fehal
HHAH T TE]
(1) 380 (2) 300
(3) 200 (4) 180

(SSC Multi-Tasking SfFExam. 17.03.2013. Ist Sitting)
If x runs are scored by A, yruns By B and z runs
by C,thenx : y=y"z=3:2. Iftotal number of
runs scored by A, B and C is342. the runs scored
by each would be respectively

IfE A9 T s9W &, BA y@ a1 CH z W
I, Wk y~y:z=3:22 9K A, Bd
C'hl el T-9&AT 342 7, T Yk i T-GE&AT
SHHTT: Y TT?
(1), 144, 96, 64 (2) 162, 108, 72
(3) 180, 120, 80(4) 189, 126, 84

(SSC Graduate Level Tier-II Exam. 29.09.2013)

A person distributes his pens among four
friends A, B, C, D in the ratio

111

37 g 5 .What is the minimum number of

pens that the person should have?

@wﬁaﬁmﬁﬁ?mﬁwﬁsﬁA,B,c,

l

TGTER, 39 AfK & IH Ul I =LA
e frat BT =fee?
(1) 57 (2) 65
(3) 75 (4) 45

(SSC Graduate Level Tier-I Exam. 21.04.2013)
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12. Tomis chasing Jerry. In the same interval of time 13. A candoawork in 16 days, B in 24 days with the

Tom Jumps 8 times while jerry jumps 6 times.
But the distance covered by Tom in 7 Jumps is
equal to the distance covered by jerry in 5 jumps.
The ratio of speed of Tom and Jerry is

2 S 1 =1 R W@ R I & wHa | o
8 9 sl & 3R S 6 IR =l 21 foheg 791
F5 W AN o 9w S § 9E sEw
e & et g deh St 5 SR s WS
21 I\ 3R SR HI = BT S S|

help of C they finish the work in 6 days working
together. If total wages for the work in 400. What
is the amount received by each person according
to work?

ATH & 1 16 T § HT Heha 7 3K B 24
& #1 3 C 1 weEd o € @R i firerny
&M 6 T A 30 7 ARk wW & o B
uRefies 400 €, @ W % UM | e Al
&l fer aeft wfer (i #) -

(1) 48:35 (2) 28:15 (1) A:150,B:100,C: 150
(3) 24:20 (4) 20:21 (2) A:100,B:150,C: 150
(SSC CHSL DEO & LDC Exam. 16.11.2014) (3) A:150,B:150,C: 100
(4)CA : 100, B : 150, C : 100
(SSC CGL Tier-I (Re-Exam.-2013) 27.04.2014)
Answer Key
TYPE-I 13:.(3)
. @2 )3 14 TYPE-V.
5. 6 27 (38 () I @2 (33 ()44
9. (3) 10. 3) 11. (4 12. (3) 5. ()
13. 3) 14. (4) 15.(2) 16. (2) TYPE-VI
17. (2) 18. (1) 19.(3) 20. (4 L (3)2 (1) 3 434 (1)
21. (3) 22. (2) 23.(1) 24. (3) 5. 36, ()7 (1) 8 (2)
25. (4) 26. (2) 27.(3) 28m(3) TYPE-VII
29. (4) 30. (3) 31.(3) 32. (@) LA 20 (D) 3. (1) 4 (3)

33. (3) 34. (3) 354(2) 36. (4)
37. (4) 38. (3).39.(1) 40. (3)
41. (4) 42. (1) 43.(3) 44.(1)
45. (2) 46.44) 47.(1) 48. (4)
49. (3) 50. (2) 51x(1) 52.(1)
53. (3) 54. (1) 55.() 56./(1)
57. (3) 58. (1) 59.(1) 60. (4)
TYPE-II
1. 32 @3 ()4 W
5. @) 6 (1) 7 (1) 8. 43)
9. (4) 10. (4) 11. 3) 12. @)
13. (3) 14. (2) 15.(4) 16. (2)
17. (2) 18. (3) 19.(2) 20. (2)
21. (4) 22. (3) 23.(4) 24. (4)
25. (2) 26. (2) 27.(1) 28. (1)
29. (4) 30. (3)

TYPE-III
L @2 @3 ()4 @
5. ) 6. (2)

TYPE-IV
L @2 )3 ()4 @
5. ()6, 47 ()8 @)
9. (4) 10. 3) 11. (3) 12. (3)

5. BR6. (2) 7. (1) 8. (&)
9. (3)/10. (1) 11. (1) 12. (2)
130 (3) 14. (2) 15.(2) 16. (3)
17, (3) 18. (2) 19.(4) 20. (4)
21. (4) 22. (1) 23.(4) 24. (3)
25. (1) 26. (2) 27.(2) 28. (3)
29. (4) 30. (4) 31.(4) 32. (2)
33. (1) 34. (2)
TYPE-VIII

L2 @3 ()4 (1)
5. 3)6. ()7 (3)8. (2
9. (3) 10. (4) 11. (1) 12. (2)
13. (1)
TYPE-IX
L @2 23 0G4 @
5. 3)6. ()7 ()
TYPE-X
L )2 @3 ()4 @
5. (46 (@) 7 (2)8. (4
9. (3) 10. (2) 11. (1) 12. (4)
13. (1) 14. (3) 15.(4) 16. (2)
17. (2
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